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A 3 X13
1. 05 kg TGEARN UF a5 W Heelt ormar ot Ifid I 5 i I s 9 JReEan
(1) -245erg _ (2) 245d
(3) -245J 4) —-245d

A body of mass 0-5 kg is thrown and it reaches a maximum height of 5 m. The work
done by the force of gravity during this vertical displacement is

(1) -24-5erg (2) 24-5J
(3) —2:45J 4) -24:5J
2, fogmeamel s faUes g Sevedr fagwdd Uh Uk U fagawr Somarend! asre
foreg T e o o e A fgET . TRew 9.
¥y, foge oo 9. faga yare
. fage ftw T faga '
vt 349 ;
(1) % (2) IFAavre
(3) wanfursg (4) %I ®

The amount of work done to bring a unit positive charge from inifinity to that point
against the direction of electric intensity is called

a. Electric potential b. Electric current
c.  Electric resistance : d. Electric work
Answer options:

(1) Onlya (2) aandb

(3) candd (4) Onlyc

3. Grciots S/ KR TaEee g/ehe ?
A 4Li+0, —> 2Li,0
g, 2Na+ 0, — Na,0,
% K+0, — KO,

it 39
(1) %ag oA (2) wad F AT
(3) Had I anfor = | (4) =, 9 M ®

Which of the following reaction/s actually takes/take place ?
a. 4Li+0y—— 2Li,0

b. 2Na+0O; —— Nay0,

c. K+0,—— KO,

Answer options :
(1) Onlya "~ (2) Onlyaandb
(3) Onmnlyaande (4) a,bandc

FHEET PTATATS! TRN / SPACE FOR ROUGH WORK P.T.O.
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4 e ez
I I
HA. Y I Sm
q, pwy ii. 8
F doy iii. Sb
T oy wv. Sg
v Sc
vi. Sr
gt T
) g < =
(1) i,vi v iv,v 1
(2) v i, vi i, 1v il
3y = i, v, v i
4y wi i, v iii, iv i
Match the columns :
I IT
a. 8block i. Sm
b. pblock 11, S
c. dblock iii, Sb
d. f block iv.  Sg
V. Sc
vi. Sr
Answer options:
a b c d
(I H,vi v v, v i
@2 v Lvi il iv i
3) wvi i, i iv,v 1
(4) wvi il,v il iv i
5.  wiehy woedier wiyfis Icaeshal et GIeienish! He Hatfi e ?
(1) damuHH
(2) S

(3) sruflF WS Her
(4) TS HTOT Ggu] ITTEIAT

Which of the following factors is/are mostly responsible for controlling primary
productivity of an aguatic ecosystem ?

(1) Temperature

(2) Pollution

(3) Predation by primary consumers

(4) Light and nutrient availability

greeqT SIS ST / SPACE FOR ROUGH WORK
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wrefierdsh! Ner faraeem sfemara S 31g ?
(1) erea 7 (2) Shawed 7,
(3) SieAE ® (4) Sl 9
Which of the following is a fat soluble vitamin ?
(1) Vitamin A | (2) Vitamin By,
(3) Vitamin C (4) Vitamin By
7. SIS Seaar :
A Hwed i i.
CRRADCC R i, FehleT
%, @wuim iii. g
8. el sage M iv. ¥Id
it 3w
A C] & g
(1) i il iit iv
(2) 1ii iv ii i
3 ii i1 iv i
(4) iv i iii il
Match the following :
a. Whiptail disease i Potato
b.  Dieback disease ii. Cauliflower
¢.  Khaira disease iii.  Citrus
d. Early blight disease iv.  Rice

Answer options :
a b c d

1) 1 ii 1it iv
(2) i iv i i
(3) ii 1ii iv i
4) 1w i iii ii
8,  ongeeio avermel € weme) fei 8 2
(1) % (2) %&
(3) R (4) Yo7
In angiosperms, seed develops inside the
(1) Flower (2) Fruit
(8) Ovule (4) Perianth

e DHATST AR / SPACE FOR ROUGH WORK P.T.O.
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9.  wrefadsh How guren yifriaed it = scad gl 9 fgushn aodfid oy 2
(1) i (2) fHeeTe
(3) =ueHdt (SHafifim) (4) awgifha Ft (aFHrefen)
In which of the following phyla, the representatives have the simplest body design
and bilateral symmetry ?

(1) Porifera (2) Coelenterata
(3) Platyhelminthes (4} Annelida
10, I Fres Joaal
R, wA i, i e wwE e
¥, gH. EF i, @
% FgEa o i, #f SfaT w7 ad
. HIH WHE iv. WRdE S A=
uate 39 ;
H o E3 g
(1 i ii iii iv
(2} iv i 1 1l
(3) i iv ii 1
(4) i1 i v i1
Match the pairs :
a. Geeta Sane i. Striche Samajatil Sthan va Bhumika
b, D.K. Sant ' L. Sanmarg
¢. Anusaya Limaye 1.  Stree Jeevan Anvaya va Artha
d. M.M. Deshmukh iv.  Bharatiya Stree Jeevan
Answer options :
a b c d
(1) i ii 1ii v
(2) iv iii i il
(3) 1il iv it i
{4y 1 1 v 111

11. VY F9& S T TThad! A8 =1 B e, et et e 13 59 1857 TN 68
JehRUATe SIS, & §E IR FI0 A 2
(1) aqUE T deta
(2) e q ST
(3) FAde WM, fAamd e, Ja™ Figl we i fgr g
(4) Hiawmda, dweta i SreRETd
The Company’s army was at Kamti and Takli near Nagpur. Some soldiers from that
army decided to revolt on 13th June, 1857. Who were the leaders of that revolt ?
(1) Bapurao and Venkat Rao
(2) Sitaram Pant and Bakabai
(3) Inayatullah Khan, Vilayat Khan, Nawab Kader Khan and Deedar Khan
{4) Sitaram Pant, Venkat Rao and Bakabai

ool FTHTATS! ST / SPACE FOR ROUGH WORK




A 7 X13
12. 1857 =41 WU i@ B fifvaa Foam el g
(1) 30H (2) 10W
(8) 31% (4) 1093
was the date fixed for the Revolt of 1857.
(1) 30t June (2) 10*h May
(3) 315t May ‘ (4) 10%R June

13. TEAUR Fven S TI6 ATHEER] TS TR gt F7g1a ?

(1) TSy Ty (2) SrREAAE

(3) Hwash R @) Fopreh e

Who from the following persons has notf written books on political economy in

Marathi ?

{1} Ramkrishna Vishvanath (2) Lokhitwadi

(3) Keshavji Pathare (4) Vishnushastri Chiplunkar
14. B TR Tl I3TETET e gl

(1) T v s (2) e "Em

3) fuqe e (4) ELR YT

was the leader of Ramosi Uprising in Maharashtra.

(1) Raja Pratap Singh (2) Phond Sawant

(3) Chittur Singh (4) Dattatreya Petkar
15. YT I ot dwfig ama.

1901 well =t FfY AEifrfierhr Tr el

A qH1 49 eh! HINYR HEU TAT hedl.

T 3T witdl e,

(1) i Fhiat (2) wie Jaeet

(3) S F3H : (4) S Far

The following sentences are about

He established Cooperative credit socicties for the farmers.

In 1901, he appointed the Inspector General of Agriculture.

He established Agricultural Research Institution at Pusa.

He appointed the Famine Committee.

(1) Lord Macaulay 7 (2) Lord Wellesley
(3) Lord Curzon {4) Lord Cornwallis

FOEIT FHTETS TR | SPACE FOR ROUGH WORK ' P.T.O.
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16, $= 3fgm ot ura gearden e T wd e g 2

(1) ofsht (2) Ig
(3) =AM (4) foem
On which of the following things, did the East India Company initially focus in
India ?
(1) Army (2} War
(3) Trade (4) Education

17. __ ueffd SRl 1959 T HidwSA SATEETg IHA GUROT FHEE A HOEE
T 30 It A A
(1) Tt (2) AT
(3) «fr (4) o
At the _  Session of the Congress in January 1959, a resolution was
adopted for the implementation of the land reforms.
(1) Delhi (2) Nagpur
(3) Bombay {4y Caleutta

18, Eciciiesh! N dheal qd fedterd F7gha ?
(1) Amm ¢ (2) fors 2ewee
(3) firemdt e (4) @iEl @S
Which of the following hills is not in Eastern Himalaya ?
(1) Naga Hills (2) Mizo Hills
(8) Mishmi Hills ' (4) Khasi Hills

19. ErAAEH Bl 97 IW YA et a4 AFT 2

(1) fewe (2) W

(3) g (4) &R

Which of the following is not a Hot Tropical Thorny Forest ?
(1) Hirda ' (2) Khair

(3) Tendu (4) Bor

ZeeT BIHTATS! AT / SPACE FOR ROUGH WORK
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20. @l 753 FehedTAT ST AT
FicTH [ FiciH 1T
T Tt
H.  wHF HEd 1 TR
¥ B Em i, gonin
%, Huiq En iii. o
3. Tgush iv.  onfRed
it I
H Ll & S
(1) i1 iv i iii
(2) 1iv ii i iii
{3) iv i il i
4) i iii v ii
Match the following multipurpose projects :
Column 1 Column II
Prgject River
a. Kong Sabati i. Barakar
b. Tehri dam ii.  Subarnarekha
c¢. Maithon dam ii.  Ajoy
d. Mayurakshi iv.  Bhagirathi
Answer options: |
a b C d
(1) i iv i i
@) iv it i il
3) v ii iii i
4 i iii iv i
21, Wl PR FEqH W e T R 7

(1 o (2) UIRITEA
(3 w&mw @ =

Which of the following modes of transport is very flexible ?
(1) Water (2) Pipeline
(3) Air . (4) Railways

TFEEYT BHTATS! AT / SPACE FOR ROUGH WORK ' P.T.O.
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22, e RIELE
i 1
S#mt
H.  GEEE AE@E
|, iGN
F.  HEHAIET
. hl JGHIR
aaidt I
& ) ®
(1) m 1 v
(2) 1ii i i
3 i iii i
(4) iv i 1l

Match the following :

Column I

Places

Gulf of Khambhat
Konkan Coast
Kakinada

Palk Bay

Answer options:

(1)
(2)
(3)
{4)

a b c
1id i iv
i 1 ii
i iit il
iv i1 ii1

10

i 11
fawry
1 IEER | R
i, 3T%g I tes TR
iii, ¥ g9
iv. ue fiesfin
g
ii
v
v
i
Column I1
Significance
1. Coast of Submergence
ii. Narrow and smooth coast
i, Old deposits
iv.  Pear] Fishing
d
ii
iv
iv

i

ey PTHTETA ST / SPACE FOR ROUGH WORK
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23. gt [ 9 gt [I 7= Sieen Jeaarn @t fodean femeamyy dra i fast
gl gl
(&) (57z)
F. Tyl i, Tt
& HISHATR ii. e
%, Jogl iii. TR
s. Fﬁﬂ?ﬂ’eﬁ'&' iv. am
it I
H a9 o ¥
(1) ii iii i iv
(2) ii iv iii i
(3) 1 i v i
(4) 1ii v i iii
Match the List I with List II and select the correct answer from the options given
below :
List I List IT
(Dams) (District)
a. Radhanagari ' i. Parbhani
b.  Modak Sagar ii.  Kolhapur
c. Yeldar iii.  Nagpur
d. Totaladoh iv.  Thane
Answer options :
a b e d
(1) =n 1it i iv
(2) 1 v 1ii 1
(3) ii i v i
(4) i iv i 1ii
24. ST TEONA TSI TR F90 DFC o
(1) ford game waw (2) 397 el gaWH TaH
(3) I T Y& FEHE TN (4) ahedd T
As per the Koppen classification of climatic zones, DFC means
(1) Cold climate zone (2) Hot desert climate zone
(3) Hot and dry climate zone - (4) None of the above
25. WA BT Aciibied Yot FERTSETG daid Sied F=ied 317 2

(1) e FAfd=A @ fufen safé=m

(3) el Ferters (4) I9WT FeATE=H

Which of the following irrigation systems is largely practised in Maharashtra ?
(1) Canal irrigation (2} Well irrigation

(3) Tank irrigation (4) Lift irrigation

ool FHETFRT SN | SPACE FOR ROUGH WORK P.T.O.



X13
26.

12 A

s ‘wEifuaaen’ et Wi faum faemd @

. I AT A fE searEE] S uEE | § careahe sTgeE wiig,
9. 62 aul S Al THVE TR U A e AT

%, 9 Rftvse ffvas wid faees amaa o fiesd.

T. 3= e Hgn =rndien A9 vEiiet weE g I,

Fiersd Ford faum Fvier s 2

(1) R, F (2) 9.9, % (3) #,%, 8 (4) #H, 8
Consider the following statements about Advocate General of State :

a.  He must have the qualification to be appointed as a Judge of the High Court.
b. A person above 62 years cannot be appointed as Advocate General.

c.  He shall receive such remuneration as the State Legislature determines.

d. Aretired High Court Judge may be appointed as Advocate General.
Which of the statements given above are correct ?
(1) ab,c i2) b,ed (3) a,c,d (4) a,d

ARA IIGEHER, “dTlis w@idA=T sEEEa geend) v Gue aner e 7
(arg=ez 25)

(1) oeEgfass = wWraATen ad Wia At grEs seaan 3imed.

(2) FeHEE® g WA od Wid i gnET gean e,

(3) weHSHa® JLESA wETdHTe Ha U1 JHThehIeaT HITGHTE geal HTed.

(4) UeHSMHA® g AT Td itk HREATT sl AHTed.

Under the Constitution of India, which one of the following statements with regard
to “Right to Freedom of Religion” is correct ? (Article 25)

(1) All adult citizens are equally entitled to Freedom of Conscience.

(2) All Indians are equally entitled to Freedom of Conscience.

(3) Allindividuals are equally entitled to Freedom of Conscience.,

(4) All persons are equally entitled to Freedom of Conscience.

28.

GAdE wv favm g@Fe o 9

(1) wegenrg vgan gibd=ht fRrhl 1957 near et g,

(2) A9 HEAT Wi fo= iEarel 1978 7¥4 Wit & g,

(3)  urard G wide wfidE fgeh 1985 7edl el g

(4) wr=Erd d.4i. T qiueH foar sEeTe 1986 A6 @iet el BT

Which one of the following statements is incorrect ?

(1) Balwantrai Mehta Comimittee was appointed in 1957,

(2) Ashok Mehta Committee submitted its report in 1978,

{3) Principal P.B. Patil Committee was appointed in 1985.

‘4) Principal P.B. Patil Committee submitted its report in 1986.

FreedT HIYTAIST ST / SPACE FOR ROUGH WORK
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13 X13

et Arfesls TEETEd Al el

W 33‘31.'@3?
B [ 9 FEATIE B6d Hgred 41
FHIE] BN . 48A
TFT aNTElld Sfeichia TANT 7T freror iii. 45
. vglETerd HTeer A g iv. 39A
gt 3=

) E | & T
(1) iv iii i i
(2) iv i Wi

o8 e g

(3 1 ii iii iv

4) i i v ii .
Match the pairs regarding Directive Principles of the State Policy :
Provision Article

a. Equal Justice and Free Legal Aid i 41
b. Right to Work ii. 48A
¢. Childhood Care and Education Below the Age of Six Years iii. 45
d. Protection and Improvement of Environment v. 39A
Answer options :

a b c d
(1) iv iii i1 i
(2) v i 1ii i
(3) i ii iii v
4 i i1 iv i

30.

U= AiHae AEITEEd (SPSC) Wiefier R foramm v

q, TS ARES FENTY A H FeEs ded SN e U9 faftmgerrgs e
e T S,

¥, UC HISTIMM T5" ARpHal TR Hged o vl Toa diehddr  STamrsan
FTEAFI=A AAVRRIETS! 9T L.

FOTIh! HIod faum/A FoEy 3 Ed ?

(1) %aq o (2) A, FWMUT*H (3 FAAH (4) JF AT H

Consider the following statements about the State Public Service Commission

(SPSC) -

a. The Constitution does not specify the strength of the SPSC.

b. The salary and service conditions of the chairman and members of SPSC are
determined by the State Legislature.

c. A member of SPSC, on ceasing to hold office, is eligible for appointment as the
Chairman of any other SPSC,

Which one of the statements given above is/are correct ?
(1) Onlya (2) a,bandc (3) bandec (4) aandc

Foey] FHISE AR / SPACE FOR ROUGH WORK P.T.O.



X13 14
31.  urdw e wrelietsd) wiordl dutsmens Aliwd 7giy ?
¥, THY qemHel
9, {oTHeY e
F.  Ushilcheh ~A1geqaEa
g,  EAI ~EeHEe
s. wige et ga
sframefiea atqal
uuﬁﬁa'ﬂi
(1y 3,49, %,% (2) 4,%,8%, % (3) 3#,%, I, % (4)

a!g!g

Which of the following are not the federal features of the Indian Constitution ?

Single Constitution
Supremacy of the Constitution
Integrated Judiciary
Independent Judiciary

All India Services

Emergency Provisions

T - R =

Answer options :
{1) a,b,d, e (2) b,c,ef 3) a,cef {4

b,d, e

32. MWW@WWWMWWW

HE TR 2

A A T Al femmEeE s

§. SYRYIE S G

H. TR

z. afafﬁlaa Tegfor & FEH gERETE YA

3. Frgarel, wEid Aamanen sfrEy wo

uatdy I

(1) 31, 8,3 (2) J,9,%,T (3 %83 (4)

ELCE]

Which of the following powers and functional items of municipalities, in the Twelfth

Schedule of the Constitution are incorporated ?

a. Planning for economic and social development

b.  Non-conventional energy sources

c. Libraries

d. Promotion of cultural, educational and aesthetic aspecte
e.  Cattle pounds, prevention of cruelty to anmimals

Answer options :
(1) a,d, e (2} a,b,ed (3) b,c,d e {4)

Al] of the above

FTET FHTA! SR | SPACE FOR ROUGH WORK



33.

15 X13

Giefieeht Hiv faum 77 a1g ?

(1) 9Rd SR e, 1935 gl Heear Brersfien amum vrarsar afaam au=h womn
FuaTq et gl

(2) Gfaum aie STeay Teve 11 fdw, 1946 U0 =L, qEdf 7= Fae sl dd.

(3) aTEtE Ag€ A frem wfirdi, g wfich anfor gl (Ad hoc) aftdi=ar sreaewd
forgeht gt @l -

(4) ofwUR w

Which of the following statements is correct ?

(1) The Indian Constituent Assembly was set up on the basis of recommendations
by the Government of India Act, 1935.

(2) H.C. Mukherjee was elected as the Vice Chairman of the Constituent Assembly
on 118 December, 1946.

(3) Jawaharlal Nehru was appointed as the Chairman of Rules Committee,
Steering Committee and Ad hoc Committee.

(4) All of the above

34.

et e faum 9 mge dF fum ofie w s ie o, ardie foat favma ¢ afgen
T faamTear smn Feeen fFeed sTaumy sure gfrarg e Wi e

4. g el a5 e afE.

F.  YEIEHS FHAT B

g. fifsra quum SR o aTe.

3. gEYW & afes dag AR,

Taidt I

(1) A, &, (2) #,8,9
3 %%, 4) T, %,%

Given below are five statements followed by options consisting of three statements in
a specific order. Choose the option that indicates a valid argument where the third
statement is the conclusion drawn from the preceding two statements.

a. Cigarettes emit passive smoke.

b.  Smoking should be banned in public places.

c Smoking causes cancer.

d. Passive smoking is injurious to health.

e.  Smoking is a costly habit.

Answer options :

(1) a,¢b _ (2) a,d,b
(3) e,cd | 4) d,ce

FEEGT FTHIEIE! I / SPACE FOR ROUGH WORK P.T.O.
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35, wrehd apde il Fu. Teieth St awg yeds faaren et e a9 aam

e ?
@ 2
ma @ 22 pr e P
A &
(i) (ii) (iii)
gt IW ;
(1) A (g
@ = @)
(3) /¥ (Fere)
(4) aheih! wHE ATE

Observe the given figure, Which of the following object will balance the weight when
it will accupy the question mark ?

)
Mn @ é‘%% /P W

(i) (11) (iii)

Answer options:

(1) A (Hammer)

(3) N (Axe)

(4} None of the above

Heeg] HIETATS! S0 / SPACE FOR ROUGH WORK.
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86. P, Q RS u gEehauie YA 3% (1) 3for i Hrorm 3w (d) skl wom
e IFTATE], ] IHT AL ATAAT HRIherIg, el
2
atHt 3wy :
(1) P (2) Q 3) R 4 S _
Study the graph that represents time (t) and distance (d) that four cyclists P, Q, R
and S were expected to cover during the race. Select the cyclist who was leading the
race till half the distance.
{ P
: qQ
: R
time ! 1S
Distance d/2 d
Answer options:
1y P (2) Q 3) R 4 8
87. GwaR TN qE Rearaeen dieeal eaarasn ga= famrm dvm faww fEw e

THaR, WIBaR, JUaN, TeaR, MEhar, wiar, faEr.

gt 3w
(1) 9Hdr (2) T&ER
(3) "WHAR (4) "SR

Select the third day after the day which comes second after the day which comes
immedjately after the day which comes second after Monday.

Monday, Tuesday, Wednesday, Thursday, Friday, Saturday, Sunday
Answer options :

(1) Wednesday (2) Thursday

(3) Monday (4) Tuesday

ToEdT BTHTEIS! STFTT / SPACE FOR ROUGH WORK P.T.O.
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38, GG Higvidie g7 ABEA eiHeeaT Anft A e w,

4 3 5 4
ONROIRONO!
5 6 6 3

(1) 24 @ 2

(3) 12 (4) 28

Identify the rule in the given number arrangement and find the number to replace
the question mark.

4 3 5 4
ONFONEONO!
5 6 b 3

(1) 24 (2) 2

(3) 12 (4) 28

39. ufam srwamEn anfo Y Sredieiie sfew fo=h et 3 steaar owfae +omn v e

JE [0
Y {1) (2) (3) (4)

Study the images and select one of the options that includes the image given in the
frame Y, without changing its position.

=l slm - ﬁ
22 | [P0
Y (1) 2) (3) (4)

FOEGT HETHIS! SR / SPACE FOR ROUGH WORK
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40. Y fooiem srEmEEEn SwEm FE4 F oo udihe Wiy seed A C sTErrs
Sdihs GEAT 3TATICd] HETA] TLTHY STACICAT ST STl foreram STauI=aT S7errean
Trelehg T[T IFEIedl JETAT IAaThgd GoL raae Aar faer .

ABCDEFGH

it 3o ;

(1) B (2 G 3) F (4) H

Using the string of letters given below, choose the letter that comes second to the
right of the letter which is immediately to the left of the letter that comes third to
the right of the right of the letter that comes midway between the letter second to
the left of the letter C and the latter immediately to the right of the letter F.

ABCDEFGH

Answer options :

(1) B @ G (3 F (4) H
41, WA+C-D=BFA+B+C+D=14, (A +C)* =Trelt

1 7 (2) 196

(3) 98 (4) 49

IfA+C-D=BandA+B+C+D=14,then(A+C)°2=2?

(L 7 (2) 196

@ 98 (4) 49

42. ﬁ@ﬁmwﬁmamwmm&myW%mmmﬁﬁmwhﬁ@L

(1) 5 (2) 10

@3 7

Study the number structure and choose the suitable option in place of the question
mark.

(1) 5 (2) 10

3 7 4 9

HTT HHTHIST SR / SPACE FOR ROUGH WORK - P.T.O.
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43. R 40 s&=grEr 20 feawmEr =gE € T 370, W 30 {CamwEidl 111 FEE SO ST
(1) 8 (2) 5 (3) 14 (4) 11
If the rent for grazing 40 goats for 20 days is ¥ 370, select the number of goats that
can be grazed for 30 days for ¥ 111.

(1) 8 (2) 5 (3) 14 4 11
44, Giudat v ged fafay wmer steom saehied ZeaTt eI ST dehal 3Tl
fecte wiaiqy @meRfa g faum fraen.

(1) o7 decaia geddie fafay wrer Sieom=n saehien ey migd e T

(2) = e e WINT SiAvT=aT ShleAT e §a1d HIgl A8,

(3) 1 et 29% SRR ushal dities fohen &) i Serara It FEuran A€

(4) T UHUET S WISy SO ki TR Aifgd! §al.

Study the accompanying pie chart showing the percentages of persons speaking
different languages in one institute.

Select the false statement with respect to it from the given alternatives.

22%
Malayalam

Answer options :

(1) Information about the number of persons from the institute speaking different
languages is not given in this chart.

{2}  Group of persons speaking English is largest in this institute.

(3) It can be said that 29% people from this institute speak either Tamil or Hindi.

(4) The chart gives information about the percentages of persons who speak more
than one language.

Feed] HTETEE! SR / SPACE FOR ROUGH WORK
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45.  SofeEreT SNl A0 AI%T HIUTY 2

1 J (2) M 3) S 4) T
What will be the letter in place of the question mark ?

P F
Y1330R

23 | 26
L Q
? K

(1 J 2 M 3 S 4) T

46. WWHMWWWWH%WWMWWWW
TN IO HYT H AR ?

(1) C (2) A 3 F 4) J

The following question is based on a triangular pattern of the alphabet. Find out the
system underlying the pattern and then answer the following question.

Which is the middle letter on the base ?

(1) C (2) A 3y F 4y J
T BRIATS! ST / SPACE FOR ROUGH WORK P.T.O.
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47. A R e aw S o ThE S, i@ T, Bem ge, e
Tag 3 IRy &) sieu=n sh sfawfta s,
8 (a) wieelta o= =5kl SieTd HEen T e A

{a)

/

(1) Tt feram wawdt el
(2) g Bl gq W
(3) wudl & f&d

(4) T Wit g4 W

The accompanying Venn diagram represents persons speaking different languages.
The circle represents Marathi, triangle represents Gujarati, pentagon represents
Kannada and square represents Hindi speaking persons.

Select the group of languages spoken by the persons who are represented by area (a).

(a)>

/

(1) None other than Gujarati
(2) All languages but Kannada
(3) Marathi and Hindi

(4) All languages but Gujarati

48, U A GesfE wmd RAIN' @1 Wit ‘8$%6° 31 fafzen anfol ‘MORE’ &1 Y=g ‘7#8@ 31H1
fafeen. @ = ahfas wia ‘REMAIN g1 ¥1sg 1 forgred ?
(1) #@7$%6 (2) #@&3%6
(3) 7@#8$%6 (4) 8@7$%6
In a certain code language ‘RAIN’ is written as ‘83%6° and ‘'MORE’ is written as
“7#8@. How will ‘REMAIN’ be written in that code language ?

(1) #@7%%6 (2) #@&$%6
(3) T@#3%6 (4) 8@7$%6

TOR]] FTHTRTSY SN / SPACE FOR ROUGH WORK
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49. T fedteun G wEan MR TSRl WRThA STHUI T AT desTeAT WG S0 9 A3

3, 6, 9-5, 14-5, 18, 23
5, 10, 13-5, 185, 22

Tt I
(1) 14-549 185 (2) 18913-5
(3) 1459135 4) 95910

In the given two numerical sequences below, one number that appears in the top
sequence should appear in the bottom sequence and vice versa. Select the pair of
numbers that needs to be interchanged.

3, 6,95, 145, 18, 23

5, 10, 13-5, 18-5, 22

Answer options :

(1) 14:5and 185 (2) 18and 135
(3) 14-5and 13:5 (4) 95and10

50. foveat ffim Foeh 83 grafamn Sarpdemm &3 s o1 vatar e
S0
(1) (2)

Select the Venn diagram from the options, having identical areas pointed in fhe
dotted Venn diagram.

@ % i
(1) (2)

o] HHTHTST AR / SPACE FOR ROUGH WORK P.T.O.
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51.

24 A
Y 91 SRR giacel gae @ faen foeie 38 snamn st semeearer foeamaret fgeemdt we

S
- JY
It 3
O
o[]o
@]
(1 (2) {3) (4)

Study the folding and punching of the given paper sheet Y and select the option that
is closer to the unfolded sheet :

(1 (2) (3) (4}

HEEIT HIHTHIST ITT / SPACE FOR ROUGH WORK
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52. eI SRR qREEciedn B GEEHREAT gefacen fouEt S8 7 . Tl wata
8 @ied Hed. _
» 7. i (- :' \ . N . N \\;| . S \
a b i d 0 d
W @ FRfiE Seem s et 9t e geae forss awdie snfor s fdfa
FSE AT dSTeAT YuE HHEE fovh sEdier @ wier e ymele fouwndt stw
fras.
{1 11 {2) 12
(3) 13 4) 10
The sum of the number of dots on the opposite face of the dice shown in the following
image is 7. Their top faces are erased.
- . N Vo N ﬁ .E ‘!\ EL \_1 . N \
a b 1 c : 0 d
If the dice labelled with vowels have an even number of dots on their top faces and
dice labelled with consonants have an even number of dots on their bottom faces,
select the sum of the number of dots on their top surface.
(1 1 2) 12
{3} 13 4) 10
53. fowma wfowm fes

(1) {2) (3) (4)

Choose the odd image.

{1} {2) 3 4)

FHEE] HHTEST HAT / SPACE FOR ROUGH WORK

P.T.O.
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54, A T 9N FTIE IGH AT cHIITES dAR el vl Sae.

(1) (2)
e 5i " /’ﬂ?“\
/(L' \\’C-TD' --:.':J L=
@ w &

Y ‘T‘. \\
o PN
(1) (2)
A PoN
{\3 .a\’:}\- 1 ‘r‘.dj  —
@) <= : @ AN

O] BTATATA! SN | SPACE FOR ROUGH WORK
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55. @rell faum 3 wyreeT wigeiet AW o) amia. s I wate feEs
faam : ‘
H. U9 Han S 7TRA.
4.  Td gau oi@s A,
AT
I. . Hd a@s Sa 37T,
II. TEl EiFet J@s amea.
II1. STEROW Eiaet THRaeh .
IV. &d gieet gar IR,
quift 3w
(1) & 19U 37w, (2) e 19 IV ST aTed.
(3) v IT UK T8, (4) afwwd
Statements and conclusions derived from them are given below. Select the correct
option about conclusions. '
Statements :
a.  All carpenters are doctors.
b.  All carpenters are writers.
Conclusions :
I.  All writers are doctors.
II. Some doctors are writers.
III. Generally doctors are writers.
IV. All doctors are carpenters.
Answer options :
(1) Only lis correct. (2) OnlyIand IV are correct.
(3) Only IT is correct. (4) All of the above
56. TIF Feawia IR W@l eE agd s R, Tald umhedten SR el ure wEt

S, wrl, e g9 wieE W e, St femian fim At f oEw om. wEh,
U e U Hig=rH Wl 3. fyerden S arer e s 2

(1) @t (2) oW

(3) e (4) i

Four siblings of a joint family want to share sweets. They decided that the youngest
would get the extra sweet. Swati is two months older than Ganesh, who is three

months younger than Neela. Kashi is one month older than Ganesh. Who will get
the extra share of sweets ?

(1) Swati (2) Ganesh
(3) Neela : {(4) Kashi

FEY] HHTATS! ST / SPACE FOR ROUGH WORK P.T.O.
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57. U SIS YTEd T HIH TEUIeT, “Tr RIordrE S19, aTeal S9rEl gorT SR, el W
anft afgwr Aréa.” srEntoETde b= = 9w A SE 2
(1) yam (2) gorft
(3) 9> " {(4) Rl

Looking at a portrait, a man said, “That man’s father is my father’s son. Brothers
and sisters, I have none.” What is the relation of the person in the portrait, to the

man ?
(1) Son (2) Daughter
{(3) Brother _ (4) Uncle

58. feciown wuam= WA v ST sEce wEIET |@4ls A |99 HaE.

W'hﬁ?ﬁﬁ:
o o s] |
Ol Ql 1O O‘
O O |
1) (2)
O O O ( O
© @]
O
0 o O 0[O
@) 4
o (3) o (4)

Study the pattern of tiles given and select the most appropriate set of missing tiles.

Answer options:

\ o) o o) B
olo ol o O‘
O o
(1) (2)
0 O 0 O
O |
o)
o ‘
O r 0 0] Q|0
| \O—A— 3 (4)
o |1 4

FEET HHTATS! SR / SPACE FOR ROUGH WORK
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59.

29 X13

e Hﬁﬁﬁ;ﬂﬁa ‘PERSON’ & & ‘SHUVRQ' murﬁﬁﬁmm'ama Hiehldeh MG
‘MOTHER’ & ¥ig e fordien ada ?

(1) PRWEKHU

(2) PRWKUH

(3) PWRKHU

(4) PRWHKU

In a certain code language, ‘PERSON’ is written as ‘SHUVRQ. Then how will
‘MOTHER ' be coded in that language ?

(1) PRWKHU

{(2) PRWKUH

(3) PWRKHU

(4) PRWHEKU

60.

Tetean GEmEdE A AR Ao g, fonien vatameg fae.

3, 10, 29, 66, ...

(1) 145 (2) 150

(3) 132 (4) 127

Select the next serial term in the given number series, from the given options.
3, 10, 29, 66, ...

(1) 145 (2) 150

(3) 132 (4) 127

61.

! IR AHI. AT T HTt AR, T, TAh! Th dl. e 77 THS FUIRILI,

e TR e ST andie ? v vaty fas

(1) 65
(2) 70
(3) 175
4 77
There are seven rods each of eleven em length. In order to cut them into 77 pieces,

each of one ¢cm length, how many times will they be cut in total ? Select the correct
option.

(1) 65
(2) 70
3y 175
4) 77

FoeAT HHRITS! ST / SPACE FOR ROUGH WORK P.T.O.
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62. [<croa omsRrre 3qretma (] 1 faardt fhma fadht 2
aa
x [O0d
A90
+A90x
C4a50
1y 7 2) 6
@) 5 “4) 8
In the given multiplication problem find the value of 1.
OO0
x [O0o
A9
+A90x
4asO
1y 7 2) 6
3) 5 4y 8
63. cfimes dis FFT FHAT Yefiean TG gredl SRR AT 31aUE! T IS TR

U] U AR, 1 U hah! HHTAT IS qradl g uviiea giEthe HEldl AR, @l
N T TR foRdt et s 2

(1) 50 (2) 56

(3) 43 (4) 46

In a row of girls facing the South, Seema is eighteenth from the left end and Aparna
is eighteenth from the right end. Ketaki is fifth to the right of Seema and sixth to the

left of Aparna in the row. Then how many girls are there in the row ?
(1) 580 (2) 56
(3) 43 (4) 46

FHoeT HRTATS! SN / SPACE FOR ROUGH WORK
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64,  RiF AT A= ST IO flux (FTH) TR 7
(1) Fi= w=ss (2) EiE|
(3) U g sFewE (4) oMt TS
The flux commonly used in brazing is
(1) zinc chloride (2) borax
(3) rosin plus aleohol (4) ammonium chloride
65, gozdd e B WNTH WRIHIE! FE 39 ?
(1) @l sgem S (2)  TsEa arfe
(3) 2T I HIOMHED TFIH HI (4) <ol FEA
The function of a universal joint is to allow the propeller shaft to
(1) change length (2) bend sideways
(3) transfer torque at an angle (4) change inclination
66. & W gumaEEE w gga onful wiferdmaser e S s
afsradter ges firaan afonfie &% weha.
(1) T (TQM) (2) foew fimmn (Six Sigma)
(3) =3H (Kaizen) (4) 9Tt AT
is ‘both a methodology for process improvement and a statistical
concept that seeks to define the variation inherent in any process. '
(1) TQM (2) Six Sigma
3 -Kaizen (4) None of the above
67. a afce 7=, wfufechin fciet waan T T ST,
(1) #1a1 (Black) (2) dRU (White)
(3) Br a9l (Maroon) (4) ToaarT (Yellow)
The acetylene cylinder is usually painted with in gas welding.
(1) black colour (2) white colour
(3) maroon colour (4) yellow colour

T HHETHIS! WA / SPACE FOR ROUGH WORK P.T.O.
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68. WA Scifagsh AIfeerd] SUsHN TRIGUVATHT Hoal! e 3TRd ?
(1) S AT TR AT - IA G o=
(2) Y9 Gies! F13d HIE — Ueh TN H[ogHH
(3) dGdl AhEES — Tk Jla=d Tiasied HesH
(1) alEH TE
What challenges are driving India’s electric mobility initiatives ?
(1) Rising crude oil imports — an energy security challenge
(2) Rising pollution levels — an environmental challenge

{3) Rising population - a sustainable mobility challenge

(4) All of the above

69, ivamw 9 ®@ arEamy F19 HH FI0 376d ?

() T 2) fr=
3y = (4) 99
The function of a stabilizer in an automobile is to decrease the tendency to
(1} Rolt (2) Pitch
(3) Yaw (4) Dip
70. ST gfsel 100% WX I S faHae 9 TR,
(1) A, W
(2)  FE, HATH
(3) =g, anficrg
(4) HEE, HEATY

The world’s first 100% solar powered airport 1s located at
{1)  Cochin, Kerala

(2) Bengaluru, Karnataka

{3) Chennai, Tamil Nadu

{4) Mumbai, Maharashtra

STeY] HINTATS! SN / SPACE FOR ROUGH WORK
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71. =TT Sl W Siegl SR o ehdl, doal AT SEIherE! Sheiedl A HE TEUEE ?
(1) TuifHdeg = (2) e &
(3) Witedteg =l (4) Trdler Fte

The angle formed by the wheel with the vertical when the top of the wheel starts
outwards is called
(1) Positive camber (2) Negative camber

(3) Positive castor (4) Negative castor

72.  “TIS R AT B ¥ DT YR IGHATT IR,
(1) v Sa e e
(2) s ifaee 39t e o
(3) R F-ffeea 3t fawm
(4) Trdht AT

Which Indian enterpriselhas the ﬁmtto “Energy For Ever” ?
(1) Indian Biotechnology Development

(2) Indian Renewable Energy Development Agency

(3) Indian Non-Renewable Energy Development

(4) None of the above

73. € 9T SiEHIR AT WHRHY 7 .
Q) uw e

(2) TSI Hfl T

(3) THME IA IEA!

(4) ot i T

The coefficient of performance of a heat pump is
(1) equal to one

(2) less than one

(3) more than one

{4) None of the above

FEed] HETHIS! AT / SPACE FOR ROUGH WORK : P.T.O.
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74.  =umoNY fHefiet o8 e S .- UHE HcEedl O 3.
(1) oo01 fasf (2) 01 fr
(3) 10 fasf (4) 1-01 fa .
The maximum permissible ovality in a cylinder is usually
(1) 001 mm {2) 0-1mm
(3) 1-0mm {(4) 101 mm
75.  Soil U1 T HYET UgH Tredl HE SETeieT] SSHA oged TEurae _ 7.
(1) UFHee I (2) =
(3) forem (4) wlereh! THE! AT
A is simply a butterfly valve located between the entrance to the

carburetor and the venturi throat,
(1) acceleration pump (2) choke

{3) lever (4) None of the above

76. et stod wed wredtel Sofivmmor wiem W a9,

(1) 8410 (2) 10415
(3) 167420 (4) afietehi soRE T
Compression ratio in diesel engine may have a range of
(1) 8tolo (2) 10to 15
(3) 16to 20 (4)  None of the above
77. TF MFEIHA T TH KL RN THHE T THHhel I ol TR TR
(1) =Afe (2) wfm
(3) S (4) TR THE TR
Ina _ engine, cycle consists of two isothermal and two constant volume
processes.
(1) Carnot (2) Sterling
(3} Johnson (4) None of the above

oo PTHTET STRN / SPACE FOR ROUGH WORK
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78. EEUTse fhor ny favm Fonh e e wR
(1) I STAAE FeTsien Sfee Had
(2) 24 T TEHTIET SHEe ST
(8) 2Td ek UCHEITET THfdeId AT
(4) 3T v fierd gu 9 e

Hypoid gears require special lubricant because
(1) sliding action is there between the teeth
(2) teeth are made of soft material

(3) teeth are made of hard material

(4) such gears rotate faster

79. — @ YR 99
— HUA & fag 1 IR T
— FeIRIoel FLET T
— 3 e fafem
(1) A i WU 39994 (CRFI)
(2) 99 A g9 (PLD)
(3) EHEgiicrR geideie e et (HEUT)
(4) At TH T
A fuel injection system consisting of
— high pressure pump
-— fuel rail with a pressure sensor
~— electronically controlled injectors
— an engine management system
1s called as system.
(1) Common Rail Fuel Injection (CRFI)
(2) Pump Line Injector (PLI)
(3) Hydraulic Electronic Unit Injector (HEUI)
(4 None of the above

FoeqT HETHIS! ST / SPACE FOR ROUGH WORK P.T.O.
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80.  3myf TUETd 3dh! S1E1 BT FATT SUHTRAT SAEHTEIE! ST,
(1) 5to10% (2) 15to 20%
(3) 20to 25% (4) 25 to 50%
Modern practice is to use excess air for fuel combustion in engines.
(1) 5to10% (2) 15to 20%
(3) 20to25% (4) 25to 50%
81, 9 A’ (en wied o TR fewm W 9 ofiew fesm W I :
(1) TR (2) =i
(3) TUMHR (4) TS
The span of gear box is the between the highest and lowest reduction
ratios.
(1) ratio (2) sum
(3) multiplication (4) square root
82. foom eviemy @mse wfa firfte wmamo JeaT IHAT,
() 8 (2y 80
(3) 800 (4) 8000
The frequency of light per minute flashing in a direction indicator is about
(1) 8 (2) 80
(3) 800 (4) 8000
83. Foevd fran S e wigem sfwed grmfuveeh (CVT) #dfwa sfefaesht &

- - §

(1) <& (2) =R

(3) =t (4) T uHd T

Continuously Variable Transmissions (CVT) tend to have a mechanical

efficiency than conventional gear boxes.
(1) higher (2) equal
(3) lower (4) None of the above

Feeg] HTHTATS! Sl / SPACE FOR ROUGH WORK
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84, 126 d TeATGHRIT fadas® 2019 Aed Wiefiaueh B faura ga@ra g ?

(1)

(2)

(3)

(4)

3 Tadaes Teg= SRl TURTET WIS SENGM FEUSI R Tgd HOGH ST HeseAl
TEAAH T A AR,

1 T S anf frurawinsie swgfae S i sgfa FdrerE s
g AT e et e 10 avtardt amgfava sen ang.

1 g fe-3fem sHREE srcen vEE s e arefauasl e e
gt sl gEa 25 SHaErd 2020 Usht oo o8,

Tl whdl AT

With reference to the 126%" Constitutional Amendment Bill 2019, which of the
following statements is incorrect ?

(1)

(2)

(3)

{4)

It was passed by the simple majority of the two Houses of Parliament i.e.
majority of members present and voting.

It seeks to extend the reservation quota of seats in Lok Sabha and Legislative
Assemblies to the Scheduled Castes and Scheduled Tribes by another 10 years.

It does not propose an extension of reservation quota for the Anglo-Indian
community which expired on January 25, 2020.

None of the above

85. ‘fu% A% &= ww (CDS) (wa) STaa Wiefiatshl Hiva faum g o 2

(W
(2)
)
(4)

9.0, 2 i A3 S T e @ e .

m._a%.qe. % 91 SRR {9 (Department of Military Affairs) T9@ @i
dhud. 3 w8 Wit fawn weemEre’ Jum .

.21 .um. R o7 A R R S wpEiT T R,

Which one of the following statements about Chief of Defence Staff (CDS) (India) is
incorrect ?

(1
@)
@)
@)

CDS is described as the ‘first among equals’ among service chiefs.
CDS will be the head of the Department of Military Affairs.
CDS will not come under the ‘Right to Information Act’.

CDS’s salary and perquisites will be same as that of service chiefs.

FTEGT FINTATS! S / SPACE FOR ROUGH WORK PT.O.
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86.

38 A

HSTE FT§d A fqur .

3. TSN A g N e o oW faer oA,

4. AW q@E T4 I 9ETE Sig 3R,

. AHER e defte dgee geyed Tiig o
3. AHIgEH W T oty e et 1.

W‘H’f??ﬁ’:

(1) &, 9, &AM s (2) ¥, 9 a7for &
(3) 3, ® g (4) « 3mfor =

Find the correct statements about Ladakh.
Ladakh has two districts in Leh and Kargil.

a
b.  Mask dance of Lamas is famous from this region.

o

Lamayuru monastery is famous from this region for moonlit landscape.
d. Lamayuru was founded by Daldi Lama.

Answer options:

(1) a,b,candd (2) a,bandc

(3) a,candd {4y bandc

87.

TEM Tifew area A o A,

T, Y goR 9 I A1 IR0 AR T Aifg 3 et

%.  fafon Fem a1 egrme ween fes sgawn TegRT guron wesddda ddren @rs Heel
ST

T, TEIUST WA g 7 Aol e wand Sovam ST dhet TR,

qaiet I

(1) #, 8, &Afrsg (2) 3, §afor=

(3) 1, % 3nin 3 (4) A s

Find the correct statement about Nankana Sahib.

a. It was previously known as Talwandi.
Rai Bular Bhatti renamed the town ‘Nankana Sahib’.

¢.  During British rule, a violent episode at this place was the key milestone in the
Gurudwara Reform Movement.

d. The Janamasthan shrine was constructed by Maharaja Ranjit Singh.

Answer options :

(1) a,bcandd (2) a,bandec

{(3) a,candd (4) aandd

FTeg] HTHIATSS ST / SPACE FOR ROUGH WORK



G@F @eBTaT TFR
H.  Afeue T @ i, gedlE
q. T IR ii. =@ fm
E I R iii. e
3 T R g A
g I
A o < g
(1) iv ii 1ii i
(2) i 1ii 1i v
(3) 1 iv iii 1
4) iv 1ii ii i
Match the pairs (Regarding Arjuna Awards 2019) :
Sportsperson Discipline
a. Tajinderpal Singh Toor i Football
b.  Ajay Thakur i1. Table Tennis
¢. Harmeet Rajul Desai ii.  Kabaddi

d. Gurpreet Singh Sandhu  iv.  Athletics
Answer options :

a b c d
1) iv i i1l i
(2) 1 111 11 iv
3 i iv iii i
4y iv iii i1 i

A 39 X13
88, ol wficha S=ff =it fafacieht yeass wian.

¥ ufEmugah

q. oI § AW gy TS

%. SopeigHe 3T shiew

8. Y3 A

3. T e A% Jfed

Tt IW

(1) 91,9, ® Mg (2 w Fofrg (3) s, ganfrg (4 Fsfre

Find the books authored by Dr. Abhijit Banerjee.

a. Making Aid Work ‘

b. What the Economy Needs Now

c. Development as Freedom

d. Poor Economics

e. The Idea of Justice

Answer options ;

(1) a,b,c,dande (2) b,candd (3 a,bandd (4) aandd
89.  Sirew 4T (A [EHR 2019 TEA) ¢

T IS ST / SPACE FOR ROUGH WORK
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90. @refter faur fammm .

A, AT sHEEaT AfufmEn T ST AT Usw oot SeeTe yifveer e
T Al R,

q. ST ARt cagwTad TR Siee FeUT ST TREst Y .
‘Torar oo syaeyyd WO Seny wvE fesad Resmusd v frem

FOFTH! I e/ == e/ ?

e ikl

(1) $Fa &

(2) & 3for =

(3) =1 I H

(4) o

Consider the following statements :

a.  All the State Governments are mandated iinder the Disaster Management Act
to establish a State Disaster Management Authority (SDMA).

b. The State Home Minister acts as the Chairperson of the SDMA.

¢. The Chairperson of the District Disaster Management Authority is the
Collector or District Magistrate of the district.

Which of the statements given above is/are correct ?

(1) Onlyc

(2) bandc

(3) aandc

(4) All of the above

91, wmifaer qurgferidh 7’ v feash qroq en st ?

(1) 303
(2) 817
(3) 301
(4) 31@

On which day is ‘World No-Tobacco Day’ celebrated ?
(1) 30" June
{2) 315t March
(3) 30%h May
(4) 3815t May
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92. 1967 ued HE wREHHIN fRFTee 10 FHer FHrEswT Jhaih! S s 7agat ?

a. SelEl AT I,

b. S SREEY TSR

c. I i ffa =M Tse =R,

d. g HieHder il ST 7Ara.

e.  oHaE ThHIUHET At i aradiea gaieonat 7.

f. I Sl e Jyser Ao

g. S GURUSY S§E SHAESEri w0

h. YEUEE e 9UEE AR aigs FO.

() a,dadUTh (2) bafre (3) famfiih (4) e 3T £

Which of the following were not included in the Ten Point Programme adopted by

the Congress Working Committee in 1967 ?

a. Social control of banks.

b. Nationalisation of General Insurance.

c.  State trading in import and export trade.

d. Ceilings on urban property and income.

e.  Curb on business monopolies and concentration of economic power.

f.  End of the public distribution of foodgrains.

g. Rapid implementation of land reforms.

h. Provision of house-sites to the urban poor.

i Abolition of princely privileges.

Answer options :

() a,dandh (2) bande (3) fandh (4) eandf
93.

faerT (37) $—1979WWWWWWWWWW
ATE
RO (F): SHF UsT vfiamfear sweE gufiv aede sgha S 9 e oo

TGS SR ToEEdH 83 are 81,
(1) 91 a7t 7 g 1 (2) o & s SR
(3) I THN IR, ¥ T I 4 M AR, T FHR R

Assertion (A) : During the year 1978 — 1979 the government was not able to deal
with the growing social tension in rural areas.

Reason (B):  In many States the landowners tried to forcibly take back the plots
of land given to Scheduled Castes and rural poor during Emergency.

(1) A and B are false (2) A and B are true
(3) A is false, B is true (4) Aistrue, Bis false

FoegT HHTATS ST / SPACE FOR ROUGH WORK P.T.O.
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94, 1948 Tt I AR Yo HEhR TR HRGHT o hefl, O 9 HaRregrdter
T IR HRET TTE ATeeh 2.
(1 fa@ o= (2)  Hied T
(3) e faueg (4) vaE feant
In 1948 started the Pravara Cooperative sugar industry in Maharashtra.
Until then, all the eleven sugar industries in Maharashtra were privately owned.
(1) Vikhe Patil (2) Kolse Patil
(3) Walchand Hirachand (4) Shantanurao Kirloskar
95. AW HATATSA IATTIAAT Tl T 1944 &Y “TRar=Al e fawmm aemn afbg
woft, fh adammae g i g
(1) & = ' (2) feeett =M
(3) hcthdl &M (4) AgE W
In 1944, a group of leading industrialists issued ‘a Plan for Economic Development of
India’. It was more commonly known as .
(1) Bombay Plan (2) Delhi Plan
(3) Calcutta Plan (4) Madras Plan
96, ST Jesdl
A, HEH O HREET i 1940
q.  WRAE gt woer iwe Rl ii. 1916
%, WRAESd) i STt T iii. ®AE
€. At onfor sftnfies Sy deer womgn iv. H=%
oY I
H a9 & g
(1 i i iii iv .
(2) i iv ii 1
(3) iv 11 i1 1
4) iv 1 111 1
Match the pairs :
a. Cotton-seed oil industry i. 1540
b. The first Textile mill in India ii. 1916

c. Establishment of Industrial Commission regarding India iii. Kanpur
d. Establishment of Scientific and Industrial Research Board  iv. Mumbai
Answer options:

a b c d

(1) 1 ii iii v
(2} iii iv 1 i
(3) iv iii 1 1
4) iv i ii1 ii

FEE] FHNTES! AT / SPACE FOR ROUGH WORK
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97. ‘Uus WoR TUTY HEATGH HIT B 7

(1) &t arfean (2) #fiurg s M

(3) WHeTeHT Sifaa B (4) JAREY AUt AEe

Who was the founder of ‘Mumbai Majur Sangh’ ?

(1) B.P. Wadia (2) Shripad Amrit Dange

(3) Mahatma Jyotiba Phule (4) Narayan Meghaji Lokhande

98. 1932 ¥ WA forelt TR wrEH g ?

(1) 30 (2) 35
(3) 40 (4) 38
In India, how many sugar factories were there in 1932 ?
(1) 30 (2) 35
(3) 40 (4) 38
99. 1991 HeA WRAM NS IERATaTEl drw feshret deat AT B,
(1) =g, s T (2) . wmE
(3) WS ZET (4) 1. feeam

was the Finance Minister, when India accepted Liberalization policy for
Industrialization in 1991. ‘

(1) P.V.Narasimha Rao (2) Dr. Manmohan Singh

(3) Morarji Desai (4) P.Chidambaram
100. WAl A FHET GEiEOT=T aeE AR ?

A, Fag P

¥, S%RM ae

&, T G

3. HETSAT UET GURn

Tt 394

(1) % v & (2) ¥ FaUs

(3) e A A B 4) H, g

Which of the following arguments are in favour of ‘privatisation’ ?
a. Quick decision

b. Increase in unemployment

¢.  Decrease in the value of property

d. Improvement in the quality of services

Answer options:

(1) Onlybande (2) b,candd
(3) Onlyaandd (4) a,bandc
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(8) wwyfthaed fafga Feen fafiee smfrr o= @m (16 o) e, yegfeaeseafafiaa swafiret a1 3
FIGEL T FIH FHTIE o DY B0 FeAH FA AR, A A AEA 9 AHEN INeaARET IETH
I e “whgme g e Wiiey weararars sifufEm -82” e RdgEn e
FUIIF I3 T a1l S FOTA T GYA] FrarEroy] A/ AT Tt gen A= 2g=Ar ide
U .

(9) B TIEEREE s fafea Soiell do aueael IAcae € TRAYfEH W giel THEhaee
U WO qEE MR, AT GHETeeTars SaTqd] SHeaNe AaedT IehiEe 6l

AR 7 faawaT ura #3 savaes og.
oIfelT Ul
T %. 201. HAE! T A< HOAETS BV A TIA FA ?
(1) Tl zare JEd) (2) Iy TaemETH
(3 TN THHIEA T (4)  TITESHET T

4. sh. 201.

o U A I 4(3) T THEEA Ue” o AR, @ W Oy W) e
IRdd @ATAIHAT Y3 . 201 AW 39-5A “(3)” § 948 IO STl HEA
TEfuT AT TR

© @ @ ©

ITOERET ™ 1 WEEREREERE HEq ade Ui STEied ded Zr@daTar. TRt
e THTEdT IITEE Fietd arqd, 9f=ae a1 rde U araE 19,
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